Ball Screw Drive

B #h/1-axis

G RH 1 2 Series

P

[ __[S]

20214RBEIR  Prectsion Tudastry
I gzkﬁj‘i Specification I % ,u,\%g?’%ﬁd% <[REi R inE> Sensor Layout
IEEEEE Repeatability (mm) +0.01 L, ntindcatored Jo*
i o i
A Lead (mm) 5 10 | 20 | 32 L Lo
BEIEE  Maximum Speed (mm/s) 250 | 500 | 1000 | 1600 Qe q e
gxmmes | ArERke [ 110 | 88 | 40 | a0 | T
Maximum Payload \%Eﬁfﬂ;) kg 33 20 10 8
FE & HE 77 Rated Thrust (N) 1388 | 694 | 347 | 218
KEHEITFE Stroke Pitch (mm) 50-1250mm/50 BEFE 50mm Pitch
ACTIIREEAE  ACSenvoMolor Ouput () 400W
RERAAFEIME  BallScrew § (mm) C7®16
EBRE  Coupling(nm) 10X14 "
J B R FE 38 Home Sensor | JhE EE-SX674(NPN)

XATIRBIATO0N, FAESBRIHRE, WHFEREERR.
*When the stroke is over 750mm, the run—out of the ballscrew will occur.
We recommend to low down the working speed under this circumstances.

*E1:4E FPanasonic 200WGER;, BEMOE011; HEE, SE#HMOBO14,
*Motor (200W) Shaft Diameter: Panasonic: 11mm; Other: 14mm

I gﬁ*ﬁﬁj}ﬂﬁ% N.m Allowable Overhang

A

B
(B fzUnit:mm)

55 3 DR E R 0. 27
*Acceleration and deacceleration value is set 0.2 second.

I %?%-’é%ﬁ%k’lﬁ% Static Loading Moment

>

(B fZUnit:mm) (B fZUnit:mm) (BEfZUnit:N.m)

KFRE | A | B| C EHRE (A | B|C BEERE A c MY 606
Horizontal Installation Wall Installation Vertical Instalation
- = @ | 60kg |2850]250| 340 g | S5kg | 280 | 260 |3300 g | 15kg | 1200 | 1200 MP 606
=1 4=z0 [= R —3h] TS = 3z o o
L ZSFE 1250mm I 1600mmis Gl 8 400w 2L U g16mm 2 [ soxg |2100] 180] 250 % | 75kg | 200 | 195 [2400 F | 22g | 820 | 820 MR 1168
Maximum Stroke Maximum Speed Motor Output Ball Screw Load Load Leod
110k 1 120 | 170 — . N
9 500 110kg | 130 | 125 |1550 33kg 550 550 A RFETRERE, RESE0.
30kg |2850| 490 | 600 Eﬁ 35kg 400 | 410 |2500 10kg 1600 1600 *The torque value in the chart indicate the center of gravity.

b4 ] N
i S 2 2 = HEASMBHNEREMAT, REFMRBI100002 2,
I ;:F:':IJ ’l}ﬁ % H_\- H Ik Ordering Method 10 50kg |1700| 280 | 350 10 55kg | 245 | 250 |1550 10 14kg 1150 1150 ’Ope?ahon life is 10,000km when the product-\as:fsi‘:rg under the specified
“? | 88kg |950|140| 190 | 88kg |150 [ 150 | 950 ' | 22kg | 730 730

conditions.

“EIREREAERRERE, MBRREAARE XS,
*Data information is not for ceiling—mount inverse use. Contact us for the
details if you want to apply ceiling—mount inverse usage.

10kg |3400|1250 1400 s | 12kg |900 |1070|3000 s | 7kg | 1800 | 1800

&
G RH 1 - L 5 - 00 - B M 40 B - 4 - 1 2&0 S ool ;% o oo ZTJ e = =
2 I c: C “* | 40kg |900] 290|330 | 40kg |260 | 300|900 - - -

— s s par 3 15kg {1100 | 570 | 550 w | 15kg | 440 | 570 |1050 3 5kg 1600 1600
Zli%icﬁsﬁ \ Spﬁ?@%ﬁm} 2 o5k [620330] 320 £ | 3okg |210 [270]520 X [ kg | 1000 | 1000
12 srore “ | 30kg | 520|270 | 260 | - - -] - o - - -
50-1250mm
2R SR B50REIBE 50 mm Pitch I 1:§ EE {E_l H& :% J% - %% Suitable Motor Brand
Ball Screw Lead ﬁﬁ%ﬂ@ﬂﬂ@ﬁ%ﬁ
5 | 5mm Limit Sensor R a [ [ — R o = o
e g hE BiETE HEHE RER=E | BRERE AR EIZER SR BEB) =% AU SR
10 | 10mm ’7 o Shi#3 Out side Brand Mark Brake Watp (AC-Voltage) Motor Model Driver Model
20  20mm 3 1R 1pe T
32 32mm 4 2R o —x MAEORAR) 400 220 HG-KR43 MR-J4-40A
BE AR Ih & [RELEREZR #& SENSOR No Sensor Mitsubishi M HHE@EEH
—— Motor Brand Power Output Home Sensor T 3 (F ELAR) 400 220 HG-KR43B MR-J4-40A
BiENE — - — : 5| # SENSOR No Sensor With Brake (Vertical Type)
Motor Position M| =2 Mmitsubishi (05| - B SMEEY Out Side ﬁ§§$(7}($ﬁ:ﬁ)
BC 'ﬁz%)?t%osed P #ATR Panasonic [10| - C | BiEf Motor Side WwE o No Brake (orizontal Typa) 400 220 MHMD042G1U MADHT2510
R Y | &Il Yaskawa (20 - D | RES#EEM Opposite Motor Side Panasonic EREFEELR)
BM 'ﬁ‘%ﬂ@ms‘de T | &3 Delta 40| 400W #ESENSOR  No Sensor With Brake (Vertical Type) 400 220 MHMD042G1V MADHT2510
BiELIF SHEEKBRIRET. I No Brake No Descriptio E | # SENSOR No Senso S B (K i i}
BL | T el sice - A Xigj‘%gsoﬁ e aiE . RO T i) 400 220 ECMA-C20604ES ASD-B20421-B
BiEAT : thrﬂ”r‘<’r9k\c,550ﬁm,'r‘csc.r‘sormsfcmaﬂon has Delt
BR | Wotorright side LR “"‘“'%;%@%Ua o vﬁiiﬁ%gﬁ@ 400 220 ECMA-C20604FS ASD-B20421-B

y
2. BEAGMAEBRE

Both sides of sider need fo instal 1

A

sensor igger device.

www.pi-robot.com.cn



H 1 2 Series

EE #f/1 —axis

BIEIF/BIETH

Motor Exposed/Motor On Lower Side

E{I Unit:mm
Y ==
B E )
Motor Exposed BERE
S/R#1174.5 =30
Origin of actuator: 174.5 ARITA sioke 1195
. 2015
BEWMAERR 66.75 +1 95
Mechanical limit: 66.75+1 =T
s = =y BERIIER 117541
<~—S I’ Mechanical limit:11.75+1
n jcma] 3 o ;) o2
2-@6 V10H7 \—8-M6x1.0 V17
120
5 l\‘ T o el |
@ E == L= = E
o i [ D
éfﬁg%ﬁ}tﬁ?& The datum plane
BEEE , EEEEA A'Aé‘gw
AXBABE 2l % 1100 A48 6020.03
Pyl iy 5 View ‘ N-M8x1.257 16+06.8 THR. \J La 58 THGQ
5 72 7, 8 BfY e + . .|
° [ 8
When the stroke is 50mm, o .
if fixing the body from 58 L
the top to the botom, the %g ff—f—%f—w———————gf»ff@@ 5
ixing hole will be blocked =) [ 04
by slider and only can be © A
uses 4 screws {0 ixas a L2.06H776 [ | [M8x1.25¥16 o]
result, suggest that ixing
actuator body from the %8 100£0.02 ‘ %ﬁﬁm plane
bottom to the top.
ES%;:IK:; 50 100 150 200 250 300 350 400 450 650 700 750 800 850 900 950 1000 1100 1150 1200 1250

L 344 | 394 | 444 | 494 | 544 | 594 | 644 | 694 | 744 | 794 | 844 | 894 | 944 | 994 | 1044 | 1094

1144 | 1194 | 1244 | 1294 | 1344 | 1394 | 1444 | 1494 |1544

100 | 50 | 100 | 50 | 100 | 50 | 100 | 50

100 | 50 | 100 | 50 | 100 | 50 | 100 | 50

100 | 50 100 | 50 100 | 50 | 100 | 50 | 100

2 3 3 4 4 5

5 6 6 7 7 8 8 9

9 10 10 " " 12 12 | 13 | 13

6 8 8 10 10 12 | 12 14

14 16 16 18 18 20 | 20 22

22 24 24 26 26 28 28 | 30 | 30

o |z |Z|>
N

100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850

900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 |1300

KG 4.55| 496 | 537 | 578 | 6.19| 6.6 | 7.01 | 742 | 7.83 | 8.24 | 8.65 | 9.06 | 9.47 | 9.88 | 10.29| 10.7

11.11[11.52 | 11.93 | 12.34 | 12.75 | 13.16| 13.57| 13.98 |14.39

B L Unit:mm

v
BIETH L
Motor On Lower Side BEREH 161 47
Or\;n of actuator: 161 HRUTAE stoke 119.5
2015 BEWIMARIR 11.75+1
BEAWMIERR 53.05 +1 % Mechanical limit:11.751
Mechanical limit: 53.25:1
u T i C——
n o ey a2
2-@6V 10HT- 8-M6x1.0v17
120
©
= [ ~
. S HRE
hi The datum plane
o=
=520 A-A View
X{TRE 50 B, BA - 184.5 M*100 46 120
B S EE AL 2 ' N-M8x1.25¥16+@6.8 TH
BBEE GEER | e N o 60:008 60
4ZQHEE 28 © Z68THR, |
@)5 ZFﬂ!Eﬁi Faast g wolo
T 7L 8 o 58 = A b A L m

When the stroke is 50mm, s i )
if fixing the body from o 8 \L = gl B—5
the top to the bottom, the © | BView D6H7V 6 =
ixing hole will be blocked 184.5 ‘ P M8x1.25¥16 ‘°T

by slider and only can be
uses 4 screws to ix;as a
result, suggest that ixing
actuator body from the
bottom to the top.

BRITE
Stroke
L 330.5|380.5|430.5| 480.5|530.5 | 580.5 | 630.5|680.5

50 100 150 200 250 300 350 400

KGEME BB 1324 -

The overall length of the motor must be within 132mm.

500 550 600 650 700

8

730.5 |780.5 | 830.5|880.5 |930.5 | 980.5 1030.5[1080.5[1130.5/1180.5|1230.5 | 1280.5| 1330.5|1380.5/1430.5[1480.5(1 530.5

2E@

The datum plane

850 900 950 1000 1050 1100 1150 1200 1250

100 | 50 | 100 5 100 | 50 | 100 | 50

100 | 50 100 | 50 | 100 | 50 | 100 | 50

100 | 50 100 50 100 | 50 | 100 | 50 | 100

4 5 5 6 6 7 7 8

8 9 9 10 10 " " 12 12

4 6 6 8 8 10 10 | 12

12 14 14 | 16 16 18 | 18 20

20 | 22 22 24 24 26 | 26 28 | 28

A
M o | 1 1 2 | 2] 3] 3]a
N
P

100 | 150 | 200 | 250 | 300 | 350 | 400 | 450

500 | 550 | 600 | 650 | 700 | 750 | 800 | 850

900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300

KG 470 | 511 | 552 | 593 | 6.34 | 675 | 716 | 7.5

7.91 1832 | 873 |9.14 | 9.55 | 9.96 |10.37 [10.78 |11.19 | 11.6 | 12.01 | 12.42 | 12.83 | 13.24 | 13.65 | 14.06 |14.47

BIETHN, FRAKESE, ARBYSEARERHIMELEMZEPIN, WHETREERK

QESZH
Wher motor wil brake assembled on lawer e, or the otal length over than spe i, £ may not Use siandard pinhole. Pleasa sonlact oLF sales department f you need more information & requirement.

BELANBEGH

Pi

20214REBIER  Prcctston Tmdusins
Motor On Left Side/Motor On Right Side
B {i Unit:mm

BEL

Motor On Left Side

181

TRR50 8, B4

E!J:ﬁiﬁl%%ﬁ?&
BEEE , EEEA
4XBHEE  BH
BEEARMEATHA
1 3E 7L 8%
When the stroke is 50mm,
if fixing the body from
the top to the bottom, the
ixing hole will be blocked
by slider and only can be
uses 4 screws to ix;as a
result, suggest that ixing
actuator body from the
bottom to the top.

BRITE

Stroke

BEMITIERR 43.25 +1

Mechanical limit:43.25 1

T T T
“—‘U
h ]

BEMIMABIR 11.7541

—~ [ Mechanical limit:11.75+1

L
BERE 151 =
Origin of actuator: 151 ARATAR stoke 119.5
201.5
5
00
__H =] T o T
u 8] o =) To——
T 8-M6x1.0¥17
SE 2-Q6V10H7

S ]

B View

+0.012
600,000 V6

The datum plane

745 M*100 A __46
™ | T
j N-M8x1.25 ¥ 16+@6.8 THR.
e s A
ol
ST g 1 TEF
= \
o A
74.5 100+0.02 208HTVE P

650 700 750

800

850 900 950 1000

A-AView
120
60:0.03 60
@68 THR. |

s

Al el
M8x1.25716
nEE

The datum plane

1050 1100 1150 1200 1250

L 320.5|370.5 | 420.5| 470.5| 520.5| 570.5|620.5 | 670.5| 720.5| 770.5| 820.5 | 870.5| 920.5|970.5 [1020.5[1070.5[1120.5/1170.5|1220.5 | 1270.5 | 1320.5 |1370.5|1420.5|1470.5[1520.5
A 100 | 50 100 | 50 100 | 50 | 100 50 | 100 | 50 | 100 50 | 100 | 50 | 100 | 50 100 | 50 100 50 100 50 | 100 | 50 100
M 1 2 2 3 3 3 4 5 5 6 6 7 7 8 8 9 9 10 10 1" 1" 12 12 13 13
N 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30
P 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300
KG 470 | 511 | 552 | 593 | 6.34 | 6.75 | 716 | 7.5 | 7.91 | 832 | 873 | 914 | 9.55 | 9.96 |10.37 [10.78 | 11.19 | 11.6 | 12.01 | 12.42 | 12.83 | 13.24 | 13.65 | 14.06 | 14.47

BEAN

P 2-26V10H7
Motor On Right Side 8-M6x1.0¥17
] = T =0 o —i—
BERWIBIR 4325 +1 Ul TBEMIBIR 11.75+1
Mechanical Imit 43,25 -1 m: mu’_‘ = =2 T2 Mechanical limit:11.75:x1
95
2015
BERE 151 -
Origin of actuatdr: 151 BRITIE Stroke 195
L
181.0
CT1 1
2 =] o E——
[ 1
= o - A-AView
&5

REEE  BEEA | N-M8x1.25 16+26.8 TH u 60:003 60
4 ZBHEE  B2E - P68 THR. |
ERAMER F# © & i
L8, P g® -
When the stroke is 50mm, =38 B - 1
if fixing the body from ?g - i >
the top to the bottom, the ‘s 8 — .
ixing hole will be blocked S | Bview — 2.06H7 6 A | 8x1.25716 of
by slider and only can be BEm
uses 4 screws to ix;as a - | The datum plane
result, suggest that ixing 100+0.02 P
actuator body from the 745
bottom to the fop. -
ﬁsﬁ‘;gg 50 100 150 200 2 300 350 400 450 500 550 600 6 700 750 800 850 950 1000 1050 1100 1150 1200 1250

L 320.5|370.5| 420.5| 470.5

B {I Unit:mm

520.5| 570.5|620.5 | 670.5| 720.5 | 770.5| 820.5 | 870.5| 920.5|970.5 [1020.5

1070.5[1120.5|1170.5/1220.5| 1270.5| 1320.5{1370.5[1420.5/1470.5|1520.5|

A 100 | 50 | 100 | 50 | 100 | 50 | 100 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 100 50 100 | 50 | 100 | 50 | 100
M 1 2 2 3 3 3 4 5 5 6 6 7 7 8 8 9 9 10 10 11 11 12 12 13 13
N 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30
P 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300
KG 4.70 | 511 | 552 | 593 | 6.34 | 6.75 | 7.16 75 | 7.91| 832|873 | 9.14 | 9.55 | 9.96 [10.37 |10.78 | 11.19 | 11.6 | 12.01 | 12.42 | 12.83 | 13.24 | 13.65 | 14.06 | 14.47

www.pi-robot.com.cn




